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P,Q, R, S, T, U, V, and W are sitting
round the circle and are facing the
centre.

®

1. P is second to the right of T
who is the neighbour o
2. S is not the neighbor of P.

3. V is the neighbor of U.

4. Q is not between S and W.

5. Wis not between U and S.

Which two of the following are not
neighbours?
P,Q,R,S, T, U, V,IRWdad &
IRl AR 43 B AR dg Bl 3R
Y& PP 43 2 |

1. P, T ® S ¥ §W ©IF W 8
Sl R 3R V &1 ysiHl 2|




Statements:
1. Some keys are staplers.
2. Some staplers are stickers
3. All the stickers are pens.
Conclusion:

/ 1. Some pens are staplers
. n‘CZ Some stickers are keys
u 3. No sticker is key
/ 4. Some staplers are keys
DY
1. $B AT KU B |
2. $B LU Redx 2
(a) Only 1 and 2 3. 91 Redx U9 2 |
(b) Only 2 and 4 forsp:
(c) Only 2 and 3 1. B 97 FCUR _&"i N
2. $9 Redx arfedl
Only 1 and 4 and Either (2) or M o
./g: y 2 3. By WIH} aifadl a8l =
4. $B LU dIfqar &

cE



Statement:
1. Some questions are answers.
2. Some answer are writers.
3. All the writers are poets.
Conclusions:

\/ 1. Some writers are answers
X 2. Some poets are questions
X 3. All the questions are poets

/ 4. Some poets are answers

H:
1. $Y U¥ IX ®.

2. ©B SR AW B |
(a)Only 1 and 2 3. 9l d@® &fq 2.

/m Only 1 and 4 s ,
1. §B d@D SN ©

(c)Onlyland 3 B B 0 &

(d)Only 2 and 4 3. 9! ye &fq @
4. B Hfd I ©



Select the correct combination of
mathematical signs to replace the *

signs and to balance the given
equations

ferel @1 wfovenfia &x ik ey wv
el @1 Aqfed a1 @ fog
TR fagl @ 9@ daivH &1 99
Ty

(V729+9)*67+81*(4*6)*19

(a) ty =y Fy =,y X
(b) Xyty=yty X, = @
%+,=,—,X,+ ﬁr

(d) Tyt Xy =y, = \,




(a) 6m
(c) 8m

(b) 12m
1) 10m

Mohan’s house faces south. He steps
out of his house and goes straight for
30m. From there, he takes two
successive right turns and covers a
distance of 6m and 24m,
respectively. Finally, he takes a left
turn and walks a distance of 2m to
reach a grocery shop. What is the
shortest distance between his house
and the grocery shop?

Aes ®1 ux <féror faem &) 3k 2| 98
39 BR ¥ 9rx Faaar 2 ik @
30 #lex 9@ 9o Wrar 21 98 9, 98
AR &1 9R <Y Jsdl & 30X HA:
6 HIeX IR 24 Hex &1 g ¥ Bl
gl 3d #, 98 913 3} Jsal 2 3R
Ud B & gbE dd ugdd @ oy
2 Mlex &1 & T HIAT 2| SUD R
IR fov= & g @ €9 gaaq g
T 87




In a code language; ‘trek to the

mountain’ is written as ‘tes mel fern
lor’ ‘the mountain is high’ is written

as ‘lor max fern ani’ ‘high to the sky’
is written as ‘tes ani sav fern’. What

is the code for the word ‘trek’?

Uh &Hc HINT H; ‘trek to the
mountain’ aﬁ ‘tes mel fern lor’ ?f} Yy
¥ fo@r ST 2, ‘the mountain is

high’ &l ‘lor max fern ani’ ® ®U #
fer@ar <mar e, ‘high to the sky’ G|
‘tes ani sav fern’ ® ®©U ¥ ford@l WTdT
2 | ‘trek’ I[eq BT Hls T 87

)( (a) max /Y(b) tes
‘/ﬂ mel X(d) fern




What will come in place of question
mark (?) in the following series

fr=foled sf@en 4 a9 e (?) @ ®IF
QX T A7

9:36::12:7 32 18: 126
(a) S8 (b) 72

0 (d) 84
A

CH 1)



(a) Only 1

5/6; Either 1 or 2
(c) Only 2
(d) Neither 1 nor 2

Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fder g5 Ul @ 9 7o s R
T §| FUEI B 9T AEA §Y, WA & 9
3™ dR W s @Al ¥ A= uda B E
foig o f& @9 W spd deETa v ¥
YA DT ATAYT YT 2 |

Statements:

Y.
P<Q<R=S,

U2V=2S
Conclusions:
frre:

1) P<U

2) P=U



Z7 X=Gz21zNz07

©

(a) Only 1
(b) only 2

Both 1 and 2
(d) Neither 1 nor 2

Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fider 8 ol @ 9K $p ey A

Pﬂ'&%lmﬂ’faﬁwmg Tol 81 9

I dR W 3 oAl ¥ A w2 e,
folg o & @9 a1 Y aedETa U 9
HUAT BT STHT HYT B |

Statement:
Y.
Z>x=Gz2H:z2L;
P<O <V<L
Conclusions :

frepe:

1) Z>P

w G2L



There are 6 investors named Kavita,
Laxman, Manish, Niraj, Om and
Parvati, Purchased different number
of shares in HUL company. No two
persons purchased the same number
of shares. According to the number of
purchased shares, three people
among them invested b/w om and
kavita where om invested more than
kavita. Parvati who purchased 37
shares, purchased less than Niraj.
Manish purchased 34 shares which is
less than Laxman. None of them
purchased b/w the number of shares
Manish and Laxman Purchased. Om
did not purchase maximum share
among them. Who purchased the
maximum number of shares?



M P 6 faue 8 R tIgea due
H I3 W& H IR @ | B
A & FGRedl 7 999 9@ § IR A8l
TR | TR MY AR B WA D R,
S8 |9 A9 A F 39 3R Sfdar @ 9=
e far, o=l W A Sfdar 4 e
e fHar odd e 37 IR @,
ST RS ¥ HH AW @O | 799 A7 34
MR AT G AT ¥ B 8| 7Y 3R
TSI ERT @Ie Y IRRI & 6§01 & 919
P SRl # /@ fad 7 A R T8
@G| ANF A S99 9§ JtHaq /R 8
ar| Ifean W@ # O 9wR feew
@7

(a) Manish

(b) Kavita

(c) Parvati

@Niraj



Direction: some statements are given

followed by some conclusions.
Assuming the statements to be true,

even if they seem to be at variance
with commonly known facts, decide

which of the conclusions logically
does follow(s) from the statements.

fide 8 Ul @ 9 §p oY A
T §| FE B WE T §Y, WA & 9

I R W o9 oAl ¥ A= e 2 El
folg o f& o9 w1 e geETa v 9
2) PE T g A &) PUA BT ITHT Pl T
M Statements:

1) DI B el 81 B | 1) Some jungle are green.

2) No blue is green.

Conclusions:

3) Prg STl e Tl B 1) No green is blue.

(a) only 2 follows «”2) Some green are jungle.
(b) Both 2 and 3 follows ﬁ) No jungle is blue.
(c) only 3 follows Y-

\_[3} Both 1 and 2 follows 1) TS ST &R E|



Direction: Select the set in which the
numbers are related in the same way
as are the numbers of the following

sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is NOT allowed)

99 WYd &1 999 Diforg fored H@am
o¥ THR Heftd 3 o uer fforfRaa

ol B G et B |



(e : el & v WwE &1 999 |
e € : SRl @ S Hued bl H
femfog fdg fan, f d@&ei w®
Hfpad freafed @1 s afde | SamEvr
‘13’ — 13 W Hfpad o f& 13 4
ST /HeMT /7O &A1 §dIe 13 #
far o1 G®ar 81 13 & 1 iR 3 #

- R &7 iR R 1 8k 3 TR
V-235=56 WPt T A oy T 2)
|\|€,‘3 -.-..\&3 (25, 9, 56)

(13, 14, 183)
(a) (42, 12, 228)
(b) (19, 23, 511)

¢ (27, 15, 198)
(d) (11, 16, 135)



Which of the following numbers will
replace the question mark (?) in the
given series?

21 :196::29:7: 38:315
frefofag & @ @9 @ 9@ @ 7§
siEga % e g (?) @1 uforenfaa svf?
21:196::29:7? : 38:315
(a) 841

\/(vb‘)”ZSZ
(c) 203

(d) 319



Fiber, cotton, Jute

N9, UM, [T




|SS

Mridul cycles 145 m towards the
east, and then turns left and cycles
155m. Again, he turns left and cycles
225 m. He finally turns left and
cycles 95m to reach his home. What
is the shortest distance b/w his home
and the starting point?

gl Jd B AR 145 A Aifdba o
8, 3R f ¥ iR Fegax 155 #eX
aisfde womar g1 98 R 9 s R
gedr 8 3R 225 HicY Afeda gamr 2
Jda: 98 9¢ JodT B IR U W TH
g @ forg 95 Hiex wisfeda gamar 2|

U9 R R goard fig & 99 =gFaH
0 T 8Y?

\{a>100 m

(b) 120 m
(c) 140 m
(d) 60 m



S is the grand-son of V. U is the
sister-in-law of P. R is the son-in-law
of V. X is the niece of W, who is the
child of Q. P who has no siblings and
is not the mother of S. U has no
brothers. Each couple has at least
one child.

How is V related to R’s child?

S, VH UIaT 8| U, P 9 GTell 8| R, V &I
TEE B X, W DI Hdlol 8, ST Q DI
TdE 81 P & DI WIs—a8d &l & 3R
98 S & Af A8 B U BT IS 9IS 78T 2}
TS Sils BT $H A B9 UP a7 2 |

V,R & T=0 9 &9 yorR Hefta 87

(a) Grand-Mother

(b) Mother
(c) Father

(y Can’t be determined



Eight persons nomely A, B, C, D,
P,Q,R and S sit on the corners of two
square tables such that one table is
inscribed in another table. Also, the
persons who sit on the outer table
face inside the table and persons,
who sit on inner table face outside
the table. Each person on one table is
facing only one person and that
person must be sitting on the other
table. D sits 2nd to the left of P, who
sits on the outer table. P and C face
each other. B sits 2nd to the right of

C. D is an immediate neighbour of A.
S and R are sitting opposite to each
other on the same table. R and the
person, who sits to the immediate
right of P, face each other. S doesn’t
face Q. which of the following is
sitting on outer table?



(b) B
(c) R

Yas

3 =aft 3eIiq A, B, C, D, P, Q, R 3R
S T TR HGl ® DI TR §H PR 93
g 5 o A9 g A9 D 3TN 3| W
81, i Re 989 A9 R 938 § ST g@
A & 3R P AR 2 AR o e Ao
A9 R 93 & 9991 & A P qEX D
IR B TP A9 W TS ARD DA (D
8 Afth ® 99 ¢ 3R T8 Afe T
AS X 90T 8NIT| D, P @ &1¢ | TR
WIH TR 937 8, Sl 988 3491 W 93T 8| P
IRCUH TN P G §| B, CD TM
¥ TN WM W 997 8| D, A &7 aean
TSRl 8| SR R TP & 9 W &
TR P AT 93 § 1 R 3R T8 A, &
P3P 3 I 99T 8, U TR & 99
B ST YT Q I AR 78 8| fmferRaa
A | B 980 A W 93T 37



Statement: the best evidence of
India’s glorious past is the growing
popularity of Ayurvedic medicines in
the west.

Conclusions:

1) Ayurvedic medicines are not
popular in India.

2) Allopathic medicines are more
popular in India.

YT ARG D TRAUTAT AT DT Fad
3BT WY URed ¥ gdfad Iarei 3
Tl MBI B |

frre:

1) Agafesd ARRT wRa § dArsihg T8l

gl
2) MRA # TP qaN e dAleiig
g

+#] Neither 1 nor 2
(b) only 2
(c) only 1
(d) Both 1 and 2



Statements:

Industrial Revolution which first of
all started in Europe has brought
about modern age.

Conclusions:

X 1. Disparity between rich and poor
results in revolution

/. Revolution overhquls society.

B

itenfires wifa il wed ugel IRIU ¥
I By, AYFD YT dABY TS |
e

1. 3R IR e & &4 IFIHEAT B
gRomawy wifad aidl 2

2. Hifd TS R gAY 8 W) 2 |

(a) Only 1 follows ‘,(e)'Only 2 follows
(b) Both (d) Neither



Statements:

America’s defence secretary
reiterated that they would continue
to supply arms to Pakistan.

Conclusions:

1. Pakistan is incapable of
manufacturing arms.

2. It would ensure peace in the
region.

B

IMReT & e afad A <rewar & 4
gifbed= &l sRERT & angfd o
G T |

s

1. grfear ¥R €99 9 awef €.
2. g8 &3 ¥4 wifa gHlaa s

(a) Only 1 @pNeither

(c) Only 2 (d) Both



O™ vd 4

N>OmM?

P

sLy

A certain amount was distributed
among 6 people K, L, M, N, O, P in
such a way.

1. L received the amount only more
than K

2. P received the amount more than
L

3. P received the amount less than M

4. O received the amount more than
M but he did not receive the highest
amount.

Who received the amount less than
M?

ve f~if¥=a wif¥r 6 & K, L, M, N, O,
Pd 49 59 YoKR faalRa @) 7|



1. L & ddd K ¥ e iy ura
g%

2. P &l L ¥ 3ftre Il o gy
3.P Bl M ¥ &4 R WIW g3

4. 0 B M ¥ 3fre Wl ura g3
dfb 99 wad /e R g e

gs |

M ¥ &9 i fod ura gg?

(a) O, L, K (b) N, O, P
A P, L, K (d) L, K only

©



In a class of 75 students, where boys
are twice that of girls Dhiraj ranked
thirteenth from top. If there are four
girls ahead of Dhiraj, how many boys
are after him in rank?

75 BIEAI ® Ud H&T ¥, W8l dsd
asfeal @ gar 4 INE 2, o9
oY | dved g W) 2| gfe ke |
I IR ddsfear 28, d ¥& d Sua
qrg feda dsd 8?2

(a) 43 M

(c) 42 (d) 46



Ltlors Mowth S

3+A= lo
S tll= 19

JANUARY = 718
FEBRUARY = 8210

Then NOVEMBER will be?
SIFdyl = 718

BHIANl = 8210

dal Y sdex 8?

(a) 81018 81119
(c) 91019 (d) 81220



X+Y menas X is the daughter of Y.
X-Y means X is the brother of Y.
X%Y means X is the father of Y.
X*Y means X is the sisterof Y

Which of following means I is the
niece of J?

xX+Y &7 3ef 2 fd X, Y 9 9 2|
X-Y &1 31ef 2 6 X, Y &1 918 2|
X%Y &1 3ef & fb x, Yy &1 fUar 2
xX*Y & 3ef 2 fd X, Y &) 987 2
frr=feRaa & 9@ foaar aef 2 f6 1, g
&1 gl 272

(a) J-N%C*1 Y ) I*C-N%J
(c) J+M*C%I } ) I*C+N-J




Anupam said to a lady sitting in a
Car, “The only daughter of the
brother of my wife is the sister-in-law
of the brother of your sister “How the
husband of the lady is related to
Anupam?

I 4 dR ¥ 441 e Afeer 9 @,
'ﬁﬂ el @ Wy @I gdhaldl 4

AP d81 @ Alg bl Al 27 Al
gfd S uw ¥ @9 wefta 27

(a) Maternal uncle (b) Father
RSTEE ~I#HSon-in-law



Statements:
HY-:

L2A2C,K=Y<C,H>D<K,A>E<Y

E ;
7_ Canclusions:
LRzGRzpey 0
1.D<A
C 2.A=D

(a) All conclusions follow
Mﬂ Either conclusions 1 or 2

(c) Only conclusions 2 and 3

(d) None of the above



Statement:

hY-:
M>H=A,X2G<H,Y<M<P,G>0>K
Conclusions:
frad: o« Y

){ P>X,G<P,Y<H
(a) Only 1 (b) All follows

x__>,q<lb«<"\d>
K“" Y< M¢P

‘)e) Only 2 (d) None

9



(d) G

11 people are sitting across a
rectangular table. Four persons are
sitting on each longest side of the
table. Boss is sitting alone at one side
of the table. N and O are sitting
beside each other on one of the
shortest side of table. H is sitting
opposite to E and between G and N. A
is sitting opposite to C and between
M and D. B is opposite to D and
between C and G. F is sitting
opposite to G. Who among them is a
boss?

11 FRh TP JATHR AW & TR 43
g2 A9 @ UAD GEd ddl Hol W
R Afkh 43 2 | 99 cddd & UP dvh
bt 43 21 N 3R O AW @& Had
BICI Yol R Udb qax & 7l 4 43
28| HE® fadilda 3R G 3R N &
aﬁaﬁamé A, C & faudig 3k ™
D& d§d9 #§ 431 8| B, D &

fufia 2 sl c 3R G & 9 # dor
2| F, G & faudig der 2| -4 4
BT 919 287

%



Select the option in which the
numbers are related in the same way
as are the numbers of the following
set.

99 fadey &1 999 &R oy g
Sl ypR wdfd € o9 freferfRaa

3 AT o 9@ @
@‘1—[() '1"?‘“"3'5%8 (24, 15,¥T7t6°z:)Rl I

(a) (25, 12, 2210)
ot (18, 7, 1356)

(c) (40, 10, 930)

(d) (25, 10, 3360)



Find odd one.

(d) 4312905 : 42



One day karishma walks a certain
distance, say X meter, towards the
east then turns right and walks 40m,
and then turns left and walks 20 m.
From there she turns right and walks
10 m, and then turns right again and
walks 60 meter. From there, she
turns right and walks 10 m, and then
turns right again and walks 20 m. she
finally turns left and walks 40 m to
reach a point that is exactly 10 m to
west of the starting point. What is
the value of x ?



20 e 9ol 2| 981 ¥ d8 m{[ta'%ﬁ
g 3 10 #ex gad 2, 3k R I
ysdl 2 3iX 60 Hex Fad! 2 | 98T 9,
98 Q¢ Ysoft 2 3R 10 Hiex gadt €,
R R ag gedl 2 3k 20 e
gad! = | 3dd: 98 9l IR Jedl =@
IR 40 HeX TR (P fdg W ggad]
g ol URfe fig 4 die 10 e
R A 8| x & JouI RAT & ?

(a) 20
T 10
(c) 15

(d) None



What will come in place of question
mark (?) in the following series

fr=feRaa sf@en 4 W o (7) @ ®IF
UR T Y

19:4319 21371 : 7 1060

(a) 31

(b) 37
(c) 29
(d) 23



What will come in place of question
mark (?) in the following letter
cluster?

fr=fofaa seR w9 # weafae (7)) @

e

BAND, QT R
e AN

(b) TMDN
(c) FMZX

(d) TMon<



What will come in place of question
mark (?) in the following series

(g/zzgjg\,gl/12/‘7/’)7,)3'?}‘10{ ﬁwﬁﬁamﬁmﬁﬁ(?)a%w
8, 28, 51, 81, 124, ?, 277, 405
(a) 155

e D




STODENT

ot 7T INED

S

2| 030 1914 ¢
3242 pgy

e

In a certain code language, STUDENT
is written as 3221554 and PRINTER
is written as 2117595. How will be
EXMINE written in that language?

e fAR¥q @ WT H STUDENT &
3221554 3R PRINTER & 2117595
mmélwmﬁr:ﬁmﬁ
foram Smgm? i

(a) 6549155
(b) 6545519

(c) 6545591 X N M \ 6(5 R

6549551 ‘
aor




Select the odd.

(a) 2,1, 3 Mm

(b) 3&5

(c) 1,2, 5
e e



Which of the following option figures
will complete the pattern in the
figure given below?

frefeRaa & 9 &9 91 fascu fa=
CIE|




Statement :-
No Diamond is stone.
Some player are stone.
All tutor are player.
g‘@ Conclusion : -
)( I. No player is Diamond.
X 11. No player is tutor.

(a) Only conclusion II & IV follow. x III. Some stone are tutor.
dad frspd 11 3R IV IFERT FRd XIV. All stone is Diamond.

e | ForT

(b) Only II follows. aﬁ‘g g’R'[ 2 K4 :rg.pf ﬁ

Pael 11 ITERT vl 2 | &5 Radred) ger 2.
Ot YR AR 2 |

L}/ﬂone of the conclusion follow. . f

WHE S TV e v ) 1. i Raand) sraws w8 2 |
(d) Only III & IV follow. II. dis Raare) o0 (44 I8l &,

dad m AR IV agaRer aed & 1L BB R SR &
1v. 99 g gt 2 |



What will come in place of question
mark (?) in the following series

q@ (?) d RIF
5, o 5% 25 12.5, 1925, 6.25,

5775

(c) 500 RS
(d) 1000



Fpinertd (D7 Irh7C

E

F 24> Iy >R
e

GI1R

an

PC >R

Nine friends A, B,C, D, E, F, G, H and
I went to an extension tour from
college. All of them contributed the
bill but a different amount. G paid
more than B. F paid the highest
amount C paid more than only one
person B paid the least amount. I
paid more than H but less than D. H
paid more than C. Only one person
paid more than G. Only three person
paid more than E.

Which one is correct?

4t 9 A, B, C, D, E, F, G, H 3R I
Biciol 9§ U TaHC I X WX Y| I
gl 4 fda 4 deE far dfes
A3 BRI G 4 B ¥ 3t
Hirdar f6ar| F 9 w99 sifere R &1
Hirar fear ¢ 3 dad e @ 9
fered H{arar fear B 4 w9d &9 afd
&1 qa fear| 1, H 4 3fre «dfes



D 4 &4 yuwar< fdar) H 4 ¢ 4
ftres Hrarq fdar| d9a v aafe |
G ¥ e quae fear) daa &=
afinal 3 E 4 Afre qaar fean
S W1 ggl 28?2

(a) Only two persons paid more than

A.
ddd < afmpal 4 A 4 Iftre

Harar far |
(b) D paid more than E and less than

D =?I E 4 3f¥ra AR H 4 &9
HIrar e
\/4 E paid more than C and less than

E#cﬁmmA@m
HardarE o

(d) G paid less than I and more than
E.

G4 1d &9 IR E A It
Harar f&ar



Find wrong one.

Tod Wil
4, 30, 232, 1380, 5540, 11078

5) 5540
hx1o-10 (o) 232

d) 4
30x§- & “

23X6-6



)

ELo— lo

Dok

P Ko

In a certain code Language ‘Teacher
Taught Economics’ is written as ‘yo

_19 ko’, ‘student learnt Economics’ is

written as ‘lo ni yi’ and ‘Student
enjoyed Economics subject’ is
written as ‘pi yi lo ko’. How will
‘Subject’ be written in that

Language?

te fRad &I WM™T H  “Teacher
Taguht Economics’ Bl ‘vo lo ko’,,
‘student learnt Economics’ &l ‘lo ni
yi’ 3 ‘Student enjoyed Economics
subject G| ‘pi yi lo ko’ fer@r Siram 2 |
SH HINT H ‘Subject’ 9 foran

(a) pi
(b) ko)

(d) none of the above



Direction: Select the set in which the
numbers are related in the same way
as are the numbers of the following
sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is NOT allowed)



(A : SRl 3 fayH wqg &1 999 N |
B § : SRl @ 9 Hued bl A
femforg g famm, oof wwmell w
Hfpard fenfeg & s afde | SerER
‘13° — 13 R wfpaw o & 13 #
ST /USHT /O AT §dIe 13 H
fbar o1 wHar 81 13 & 1 AR 3 A
fawifora & r 3R fbR 1 3R 3 IR

s &= B Al T8 B )
(5, 1513, 7)
(4, 776, 6)

(a) (10, 932, 8)
(b) (4, 1241, 7)

T (3,1241,7)

(d) (7, 4913, 9)



Y,
W

(b) (HATE,0TMK,ZMNL)
(c) (LIKE,FKGO,BBBQ)
(d) (LIKE,FKGO,BUQQ)

In the following question a group of
letter is given. The letter of each
group are related with the letters of

the same group by some
Logic/Rule/Relation. From the given
alternatives. Select a group of letters

which follows the sam
Logic/Rule/Relation.

fr=feRaa gea # el &1 e 99
fear mar 2| yde uE @ e fa
dae /Fram/ddg gR1 Sl GHE
I}l W wWefa ®d @ fag 7
fadeul 4 4 &Rl &1 (b 98 g
ol a9 /fFam /a9 &1 urd
&Yl &l |

(LOVE, QKGU, BALQ)



Read both the statements and decide
which of the following answer choice
correctly depicts the relationship
b/w these two statements.

Statements:-

I. Reasoning teacher has taken
regular classes in a week rather than
three classes and has given the ‘NEW
MANTRA’ for solving questions with
in a few seconds.

II. Now days students are solving all
questions whether new one or
previous.

<9l dUAl &l 9 3R favia o fa
fr=faRaa & 9 @9 a1 SO faseu
31 Il ®UAl & o Gdg B gl
ST 9 <urar 2|




Y-

. dfir Res 4 = saey @
99d U gwre ¥ Frafia saw off @
MY HB & Ads H Ul Bl & B
&1 ‘NEW MANTRA’ faar 2 |

II. 3oibd B ¢ & 41 YR 9+
U B HY B B |

a) Statement I is the cause and
Statement II is its effect.

HT 1 ST HIRYT ¢ 3R HUT 11
SUPT Y919 2 |

(b) Statement II is the cause and
Statement I is its effect.

U 11 BRT & 3R HAT I SHPT
U9 2 |

(c) Both the Statement I & II are
independent causes.

S 1 3R I S Wd A BRI 2 |

(d) Both the Statement I & II are
effect of some common cause.

U 1 AR I i1 8 fd armm=
SR b Y9G © |



What will come in place of question
mark (?) in the following series

frfofead sfaar 4 9e e (?) @ ®IF
TR T {Tq?

75 :900 :: 87 : ? :: 97 : 1552

(a) 525

FIX(235) (b) 1450

(c) 1210

X (1O AT 1305
R x(\s)



What will come in place of question
mark (?) in the following series

Mx1+9 Prfeied sa@ar ¥ ¥ s (7) 3 W

TR T Y7
|24 243
4, 13, 34, 109, 442,?

dux3+? le :
[09xY 4 6 (b) 850
(c) 1500
1URxs+ G (@) 625 @



Find the odd one out.
faww g |

(a) Boron

(b) Selenium

MNon neted, @



If ‘“° means ‘+’, ‘®x” means ‘-, ‘+’
means ‘+’ and ‘~’ means ‘x’, then
which of the following equations
is/are correct?

afq < @1 A v, B, ‘w BT JA
g, + @l I+ g IR < B I w

Y .
g o frafaRga & 4@ &9 w1
iﬁ-&lfi'é-\} gHHYor WEl 8 /8°

./l. 162+ 3-25+6 x 13 = 1343

[
QS016 XM’SQ X IL 250 + 26 + 52 - 104 x 36 = 276

§z 1. 72 x 40 + 66 + 99 - 6 = 36

d‘fonlyi& 11 l7
(b) only II
(c) :llll{rue 31’1 «

(d) Only III



Find the odd one out.
fass g |
(a) TZRL 2026 18 12

:m Q;\l\/s '}

(d) MNYX

©



)( (a) AnY & QQON & Z#M

A + B means ‘A is the father of B’.

A " B means ‘A is the brother of B’.
A & B means ‘A is the son of B’.

A # B means ‘A is the wife of B’.

A QQ B means ‘A is the sister of B’.

A n B means ‘A is the daughter of B’.

Which of the following expressions
represent Y is the niece of Z2°?

A+B®r 3ef 2 ‘A, B &1 far 2|
AAB®HT 3 B ‘A, B &I 4TS & |
A&B®I3ef 2 ‘A, B &1 44 &' |
A#B®T3A 8 ‘A, B @I Uil &' |
AQB®T 3 2 ‘A, B’ 3 98 2 |

(b) YABOL"O&N#M+ Z A B Pl a?j g ‘A, B’ aﬂ' aﬁ g‘ |

) MraNrYQBAL#Z "0
) LQYnB+ N#Z +Q#M

frefefRaa & | @9 w1 sifyaafke
<griar 2 o Y, 2 @& 9ol 27



\S
Y3-+4t)

In a queue of 43 people at metro
station. A girl was shifted by @ place

towards the right, now she because
15t from the left end. What was her

earlier position from the right end of
the queue?

Al WIAd W il @ ®AR H.
Ud dsdl WHE 9 T8 3R
RIHIARd & s 8, 34 98 91U Bk |
15d ¥ &} 8| Ufth & QW BIR 4
ST ST = a1 o717

38
(b) 37 W

(c) 39
(d) 36







